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SHEAR DIAGRAM CALCULATIONS
Fay PPt Fhy HE=0
—2734.714+3910.01 #+1885.954-3061.24f =0

|
—273471f

MOMENT CALCULATIONS

Mos.s7o0=—2734.71§+11.5700"=-31640.6"§

Mog o0ag=—2734.71+29.0000"+ (S08.9B64+3.28913")+ 3910.014417.4300"~(1075.154*1.260307)+ 1885.954%5.74084"=9.06892"F

1747

2.69

DOMEX 100XF

TENSILE STRENGTH 110000PSI

YIELD STRENGTH 100000PSI

YIELD STRENGTH WITH SAFTEY FACTOR 3 33333PSI
YIELD STRENGTH SHEAR 100000*.60/3 = 20000PSI

P=-575.103-508.986=—1084.09#
SHEAR@ E=3061.24"#

p
& =St

108409 ¢ _753ps)
1.50IN

tau=1.50%V/(2*H*t)

V= SHEAR FORCE

H= TWO*CENTROID TO EXTREME FIBER
t= WALL THICKNESS

1.50*3061.244 _1q,~3499pPs|
(2*3.497+.188")

THE SHAPE SHOWN WILL WORK
WITH A WALL THICKNESS OF 3/16"
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P=-575.103-508.986=—1084.094#
M=—31636.3"#

MC
T=Sr

—1084.09#, —31636.3"4 *3.77" _
2.93IN 12.63IN* B

St

370PSI + 9443PSI = 9813PSI

THE SHAPE SHOWN WILL WORK
WITH A WALL THICKNESS OF 3/16
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P=-575.103-508.986=—1084.09#
1" AWAY FROM g M=—-2738.74"#

MC
T=Sr

—1084.00#, —2738.74"# *2.83" _

+ S
2.25IN° 5.14IN T
482PS| + 1508PSI = 1990PSI

THE SHAPE SHOWN WILL WORK
WITH A WALL THICKNESS OF 3/16”
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